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ek i (X ETEX
(adgf) 0010

(@M .34.9) J.“g.w‘ -

» Attribute: 18 , 116,132,164 , u8 , ul6 , u32 , ued

» Value: arch -> isize , usiz

» Operation: + 1 * J / % < <= '  Number literals Example
. Decimal
» let mut x:i8 = 256; seime R
Hex Oxff
» Storage representation Octal 0077
] Binary eb1111 0000
» Algorithm Byte () only) —
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(adgf) 0010

(Floating point) . liel sue -

» Attribute: 132 , 64
» Value:
» Operation: +,-,*,/,=,<,<=,==I=

y let y:f32 = 3.14

fn main() {

» Storage representation let x = 2.0; // f64

» Algorithm let y: f32 = 3.0; // f32
}
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(adgf) 0010

(bOOI) Jﬁ -

» Attribute: bool
» Value: true , false
» Operation: && , ||, &,|,!,==,1=, =

» let z:bool = false;

» Storage representation
» Algorithm
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» Attribute: char (QS‘) °°‘°

» Value: (char) 1,8 -

» U+000 — U+D7FF (Exclusive)
» U+E000 — U+10FFFF (NonExclusive — chinese)
» Operation: = is_digit() , 1s_alphabetic() ,
Is_alphanumeric(),..
» let ch:char =°©);

» Storage representation — 1 to 4 Byte (unicode)
» Algorithm — hardware
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(adgf) 0010

Enumeration -

» Attribute: enum

» Value:

» Operation: =, :: (accessing) , successor , predecessor ,
comparison,

» Enum IpVersion { v4, v6, }
» let four = IpVersion::V4
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» leta=1[1,2,3,4,5];
» Accessing and Selection: A[0] = 2;

» Storage representation — sequential

» Algorithm — software
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(@b W) oot
(Tuple) b -

let tup: (i32, 64, u8, char) = (-12, 3.14 ,2,*©’);
» Accessing and Selection:

tup.0 — -12

» let tup — (5001 641 1)1
let (X, y, z) = tup;
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» & — Borrow

» . — loop label , variable type assign
» .. — object definition

» — — function return

» . — member access

» .. — subrange

» ... — subrange ( includes the higher bound
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anliymigai {7 <"”'5 << e << - <

If expression -

0O o

number 3;
number < 5 {
println! ("condition was true");

{

println!("condition was false");
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Loop expression -

print!("loop for ever !");
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while expression -

mut number
number
println! ("{}!" , number);

number-=1;
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for expression -

() {
number (1 4).rev() {

' |' '

println! (“{}!", number);

¥
println! ("LIFTOFF!!!"); }
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Match expression -

Coin { Penny, Nickel, Dime, Quarter, }
(coin: Coin) -> {
coin {
Coin: :Penny 1,
Coin: :Nickel 5,

Coin: :Dime 10,
Coin: :Quarter 25,
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s J 28 —

0. (&mut guess). ("Failed to read line");

guess_num: guess. oF () {
Ok ( num) num,

Err(_) {
println! (“you idiot input A NUMBER !");

4
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b cusln

String

(&mut s);

println!("{}", s);

(some string:
some_string.

(e omd ==X

("hello™);

mut String) {
(", world");
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resource acquisition is initialization (RAIl)
+ reference counting

Stack Heap
{...}

/
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- Dealing with dangling reference example

VISUALISING LIFETIMES

let r;

{
:5;

let
r =

X
&Xx
b

println!("r: {}",
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VS Code -
Rust extension

Ru St (rls} Preview
rust-lang | @ 737716 | ok dk ok R

Rust language support - code completion, Intellisense, refactoring, reformatting, errors, snippets. A client for the Rust Language Server, built by the RLS team.
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C Rust

O
Java
ML

Control / Performance

Haskell

Safety
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